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Answer ALL questions.

PART A (10%2=20 marks)

. L1st dovvn the apphcatmns of moblle computmg _
 What strategies could be employed to address hidden terminal ijro.biem‘P
: 'L1st down the various functionalities of mobility management layer in GSM.

S What is the IEEE 802.3 Frame format?

W"hat is the difference between foreign agent COA and Co- located COA in
inobile [P?

How ad hoc network dlffers from cellular network?

What is the benefit of WAP? ' : _
Draw the basic transaction of W':E‘PI cias's 0in Iﬁobilé com’pﬁting..' |
What is a microkernel operating system?

List the constraints of mobile operating system.

PART B — (5 x 18 = 65 marks)

(a) Explain the GSM architecture with a neat sketch and also’ .di'scuss'how
the automatic, worldwide localization of users is provided in GSM._ -
Or: L

(b) -~ Discuss about various multlpiexmg techmques with a nea‘c diagram' _
- Write the pros and cons of each techmque when compared to the other .~ .
; techmque : - - -




) fDescrlbe the dlfferent phases involved in medmm access among dlfferent
g ""competlng nodes in. HIPERLAN 1. : L

% .-i'j‘:E;\piam the Workmg prmczple of Generlc Routmg Encapsulamon (GRE)

I Or R
= 'JuStifj}”'jzoﬁr ‘answer, why it is not possible to adapt the traditional -
ETCPR environment in mobile wireless networks? Explain how Indirect
L TECP dxffers from snoopmg TCP.

5 _:Explam the Dynamm host configuration protocol operatlons Wl‘th suitable
- illuistrations and indicate the benefits of using DHCP.
Or

b D1scuss the dlfferences of WML compared to HTML Wmte a WML script
."'_f":_to desxgn a page for online food ordering.

'.."_::'Explaln the monolithic structure of operating system Wlth neat
s illustration and compare with microkernel design. '

S G Or :
‘Explain any three popular mobile operating systems with its software
" protocol stack.

PART C — (1 x 15 =15 marks)

""'-.'-:':_'1_6;-.3.:';'_:(3) Blscuss the reactlve routmg protocols Wlth a sultable chagram and
i 5 _compare the same with proactive routing protocols. -
Or

) ':Descmbe the beneﬁts of a proxy - based service access models and outhne.' :
i'a proxy based design for mobile service access.




